DHW Check

Daily # 1-4

Box 1: Two Step Equations #3
Box 2: Two Step Equations # 12

opts for the original problem
3pts for the work
2pts for the answer
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Multi-Step Equations

Steps to solve multi-step equations
1) Simplify if necessary
*Get one sign in front of each term
*Collect like terms
*Distributive Property
*Get rid of fractions (multiply by least common denominator)
2) Apply the addition and/or subtraction property
3) Apply the division and/or multiplication property
4) Check your answer



Solve each equation. Show work with steps and properties.

Ex. 1) 5=5m - 23 + 2m
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Ex. 2) 1M1c-8-6¢c =22
Sc-9:2
Se-%+8=23+Q (abb?“’?:3
Sc=30

%C': :352 Cous pop*)

— e

Le6)




Ex. 3)-2y +5+ 5y =14
"7-7+51‘5)r=.1°|
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Solving Multi-Step Equations
Try These: Solve. Show work with steps

@) S5x+3x+4) =28 (b)dx -3(x-2) =21

() 2x - 5(x - 9) = 27 (d) 12 :.%(x + 2)




Solving Multi-Step Equations
Try These: Solve. Show work with steps

(@) S5x+3x+4) =28 (b)d4x -3(x-2) =,21
5x+3x+1222% (45) 4x—3x+b—zl(‘é}3§)
8x +12=28
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Solving Multi-Step Equations
() 7x-3x-8=24 () 3x-x+15=41

(g) 25x - 16x - 24 = -65 (h)%x-%x+9:_1




Solving Multi-Step Equations
(e) 7x - 3x - 8 24 (f)3x-x+15=41
Yo -9 =2 Ax 16 = )
Yx-81¢€ = Z‘H"KQ"?) x+195-15 = 4l-15
Yo = 32 k=
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(g) 25x - 16X 24 = -65
M-24=-65
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HW: Multi-Step Equations Worksheet EVENS



